
Artikel-Nr:
17W4419F
17W5419F black steel Revision 1: 21.06.2016

ASSEMBLY INSTRUCTION
Montageanleitung • Instructions de montage

17W
4419F

Fiat Fullback, Modell 2016
Roll bar 60 
Überrollbügel 60
Arceau 60



page / Seite  2
Revision 1: 21.06.2016

 17W4419.111

17W4419.2R/17W4419.3L22 17W4426R/17W4427L33

17W5163_R / 17W5164_L44

M10 x30; DIN 912 A2 2x

M5x20(25); DIN 
933 A2

8x

M8x30; DIN 933 A2 4x

M10 x40; DIN 933 Zn 4x

 M5; DIN 985 A2 8x

Ø8; DIN 127 A2 4x

ø5,3; DIN 125 A2 16x

ø8,4; DIN 125 A2 4x

ø10,5; DIN 125 Zn 4x

Getowell M5 8x

SW8 16x

SW17 4x

aa

bb

cc

dd

ee

ff

hh

ii

jj

gg
2x

2x 2x

8
8
13
17

M5(A2): 5,1 Nm
M8(A2): 21,4 Nm
M10(A2): 44Nm
M10: 50 Nm

M5: 2Nm

kk

ll

17W523077
4x

pre-installed88
4x

17W5042.1_R / 
17W5042.2_L55 17W5042.366

2x 2x

1x



page / Seite  3
Revision 1: 21.06.2016

8 4x4x

pre-installed / vormontiert/ 
pré-installé

8

Step 2

88xx

jj
jj

Step 6  

Step 1

11

22

a

1540 mm

22xx

22xx

aa

22xx
bbgg

22

Step 3

22xx

55

44xx

Step 4

44xx

22xx
66 bbgg

Step 5

ee
gggg

ee

44xx

44xx

33 22xx



Revision 1: 21.06.2016
page / Seite  4

Step 8

77
22

44

Step 10

dd
ii

ll
4x4x

4x4x

Step 9

16x16x
kk

M5(A2): 5,1 Nm
M8(A2): 21,4 Nm
M10(A2): 44Nm
M10: 50 Nm

M5: 2Nm

Step 7

44
22xx

ccffhh

7

44

cc ff hh

22xx

M8 (A2)
21,4 NM
M10 (A2):
44 Nm

1450 mm

M10: 50 Nm


